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Placing Decimals with Multiplication

Name:

Deter mine the placement of the decimal in each product.

-

(7.8)

5.809 x 7.8 =

1. Count the quantity of numbersto the
right of the decimal for each factor.
5.809 has 3 numbersright of the
decimal (5.809)
7.8 has 1 number right of the decimal

2.

453102

Add the amounts together. Y our answer
should have the same quantity of numbersto

the right of the decimal.
3+1=4

5.089 (3) x 7.8 (1) = 45.3102 (4)

~N

Also noticethat 5x 7=35and 6 x 8 =48, s0 5.809 x 7.8 will be a more than 35 but less than

/

& 48.
1) 3x4242= 1 2 7 2 6

2) 47x885= 41595

3) 433x28= 1212 4

4 371x3= 111 3

9 16x1= 1 6

6) 6266x3= 1 8 7 9 8

") 6.995x69= 4826055
8) 146x95= 13870

9 9550x1= 9 5 5 2

10) 1x542= 5 4 2

11) g745xg= 6 9 9 6 0

12) gax242= 2 03 2 8

13) 589x9.735= 57 33915
14) 684x97= 6 6 3 4 8

15) 4xgg72= 354 8 8

16) 7421 x3= 2 2 2 6 3

17) 3x32= 9 6

18) 51x6.647= 3389 97
19) 676x1.727= 1167 452

10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

Answers
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Placing Decimals with Multiplication Name. Answer Key
Deter mine the placement of the decimal in each product. Answers
7 5.809 x 7.8 = 453102 N\
- 1 12.726
L C.O UAHls quant!ty o (LU LS 2. Add the amounts together. Y our answer
right of the decimal for each factor. < .
_ ould have the same quantity of humbersto
5.809 has 3 numbers right of the the right of the decimal. 2 41.595
decimal (5.809) 3+1=4
7.8 has1 numbez 7|r|g)ht of the decimal 5,089 (3) x 7.8 (1) = 45.3102 (4) N 12124
Also noticethat 5x 7=35and 6 x 8 =48, s0 5.809 x 7.8 will be a more than 35 but less than 11.13
4. .
L 5. 1.6
) 3x4.242= 127 2 6
2) 47x885= 4 1.5 9 5 6. _ 18.798
3 433x28= 1 2.1 2 4 . 48.2655
4) _
371x3= 1 1.1 3 . 13.870
9 16x1= 1.6
0. 0.552
6) 6.266x3= 187 9 8
5.42
7) 6.995 x 6.9 = 4826 55 10.
8) 146x95= 13870 1. 69.960
9 gs52x1= 9.5 5 2 5 20.328
10) -
1x542 5.4 2 s 57.33915
11) g745x8= 6 9.9 6 0
14. 66.348
12) gax242= 2 0.3 2 8
A4
13) 589x9735= 57 33915 15, 35488
14) 684x97= 6 6.3 4 8 1. 22.263
15 _
) 4x8872= 3 5.4 8 8 . 9.6
16) 7421x3= 2 2 2 6 3
. 18, 33.8997
17) 3x32-= 9.6
18 19. 11.67452
) 51 x6.647 = 3389 9 7
6.76 x 1.727 = 1 1.6 7 4 5 2
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